B B G | Bz A B
Enegma (4
s 2%

| "o |ihTIREZEEENEFL &,

C2ICEBEENATTTELHKE, 20D rWwWwWE g,
CBITEHENFTCTESHEE, 3D r oWz g,
2 DIE% 3nfEH
2% 1 =2, 3x |1 =3,
2x2=4, 3x2=6,
2x3=6, 3x3=9,
2X4=8, 3x4a=12,

2 BRI OVWTEAZFL LI,
O ToORERT. 30EHKZ20THIHFILLI,

0 I 2 3 4 5 6 7 8 9 10 Il 12 13 14 15 16

[OMAﬂ&w:tKﬁﬁtj;ij
Y

Q@ TOHEHZT. 6DEHEZEOTHZHILLI,

0 I 2 3 4 5 6 7 8 9 10 Il 12 13 14 15 16

@ R %ﬁf5@§§7%i§%@9ﬁ®ﬁﬁ




B B G Bict : A B
reia (4
s £%A

| ko |ichTiizrsEErEE L LS,

CoERE T OEaRE. 20 T2 rvnzT,

BB ErFTTERRE. 3D T2 vz,

2 DIEEK 3 DEH
2X 1 =2, 3x | =3,
2x2=4, 3x2=6,
2x3=6, 3x3=9,
2x4=8, 3xa=12,

2 BRI OVWTEAZFL LI,
O ToORERT. 30EHKZ20THIHFILLI,

o 1 2 (3) 4 5 (6) 7 8 (39)10 11 (1213 14 (5 16

[OmAnmv:tufﬁtj;ij

@ TOHEMZRT. 6NEKEOTHIHELLI,
o | 2 3 4 5 (P 7 8 9 10 I g) 13 14 15 16
I I 1
ElaE > & e
@ WR B 5 @“%@‘%@3&»@@@






